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Elements of Financial Management

o e & dw@

Time: 3 Hours Maximum Marks: 60

Note: The question paper is divided into three sections A, B and C. Attempt
guestions of each section according to given instructions.

e I8 YIS &, @ SR T A4 @l # i 2 1 v wre & Adergar
T BT IR S |

Section-A/Evs—%

Long Answer Questions
(& S us)

Answer any two questions. Each question carries 15 Marks. 2x15=30

fgi &I U= @ SR <ISTY | IS TS 15 3Dl BT 3 |

Q1. Define finance function. Discuss the nature and scope of finance function.

o el @1 g ARTT | e 1 1 g den &3 B ARAT BI |

Q2. What is the essential of a sound dividend Policy? Explain the various types of
dividend.
U gge ™I AT P INMaeIs dcd 9T 87 IS P AW UHRI B
< PV |

Q3. Balance Sheet of Sunita & Company Ltd. at at the end of March 2009 is as follows:

e woe ST fofice &1 /1€ 2009 @ o &I ol ¥ie I UBR T

Liabilities QTR | Rs (%0) Assets FHHIfql Rs. (%0)
Share Capital 20,00,000 Fixed Assets 22,50,000
(afer i) (Rer \wufeaan)
Reserves 5,00,000 Stock 3,50,000
BC-12 Page 1




GIEINRL) (Sae))
Debentures 2,50,000 Sundry Debtors 2,50,000
(vT 9) (&TeR)
Sundry Creditors 2,50,000 Cash 1,50,000
(fafaer o) EZS)

30,00,000 30,00,000

Sales o f the company for the year, 2008-09 were of the order of Rs. 90,00,000. On
the basis of the above data, calculate the following Turn Over Ratios:

Y 2008—09 H FHeT AP 90,00,000 wWo °ff | IWIad el & MR W
frforReT smafcd srgurdl &1 ToMT BIRAY |

Total Capital Turnover (A% Ysil 31gfce)
Net Capital Turnover (Iﬁaa ‘iTrﬁ 3] ?ﬁ)

Working Capital Turnover(Eﬁl?jqﬁ C’ﬂﬂ'cﬂﬁ)
Fixed Assets Turnover (ReR Fwfed 3]13{%[)

Current Assets Turnover (fIT*[ FHfed 3 qd ?ﬁ)

A wN e

4. A project costs Rs. 100000 and has scrap value of Rs 20000. Its stream of income
before depreciation and taxes during the first year through five year is Rs. 20000, Rs
24000, Rs. 28000, Rs. 32000 and Rs. 40000. Assume 50% tax rate and depreciation
on straight line basis. Calculate the rate for the project.

Uh URAST P AN 1,00000 FO & 3R IHB RN I
20000 W0 & | BT 9 ) W Yd THAH! 3T YA I § o} Urd a9 qb
FHI: 2000050, 24000 %O, 28000%0, 32000%0 AT 40000 WO B| &
TR 50 AT of IR Wl g ugfed & 819 dred © | IRASHT B i@
TR T IO B |
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Section-B/@vs—4@
Short Answer Questions
oY SR IS
Answer any Four Questions. Each answer should not exceed 250 words. Each Question
carries 5 marks.

Pl oR U=l &1 SR T | Y-S SR 250 &l b GIfAd BT
Y| YRAP I 5 3Pl BT B | 4x5=20

Q1. Explain the importance of leverage.

SISl &1 Heed qargd |
Q2. Explain the working Capital as per Qualitative approach
oS ITTH & AR BRI ol &l Frer Hify |

Q3. Write a note on Cost-Volume profit Analysis.

SRTA—H1=T T fageryor R v fewof ey |

Q4. What is meant by Financial Management

facia ge=er 9 sUeT Far AU 2 |

Q5. Define the term ‘trading on equity’.

THAT TR AR’ Ieg BT YRATIT ST |

Q6. What is the importance of inventory management for a business?
fordll eI & oI Th=I—Ja=T &7 qIT A8 27

Q7. What is Pay-back period method of Capital budgeting?
ot gaifeTT o gfiram oafy fafey @i 22

Q8. Explain the terms ‘Funds’ and ‘Flow of Fund’.
HUS' AT ‘HUS HT J81d° WG| DI ARAT HIToTg |
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Section-C/@vs—TT
Objective Questions (Compulsory)

TR g (3far)
Answer all questions. Each question carries 1 mark.
T TSl & Sk SIIg | ISP U1 1316 3T 3 | 10x1=10
Fill in the Blanks:
Rad vl &1 g ST |
Q1. At break Even Point, the contributin will be equal to........ccoeveeveeeeenneee
TH—faeee favg WR SRIGM @ IR BIAT T |
Q2. The word ‘Fund means the difference of ......cccceevevvvvcvvenennne. =] oo R
DI R e (21 A B AR Pl Ped T |
Q3. Purchase of plant Will ........ccceevevevverenenene. in working capital.
T BT BT BRI GOl Hoooooo BT |
Q4. GoodWill IS @ c.cceeeeeeeerereree e transacting.
G TP oo, et
Q5. Capital Budgeting is also known as investment decision making and .........cccccevvvenene..
ISl goted & fafarT fofaa o % AW | W SIET ST
2l
Write True/False against the following
7 @ A v /e forRad |

Q6. BEP is the point at which total revenue is equal to total cost.
94 fawoT fd=g a8 fawg © T8l &d oM, |l aNTd & aRTER Bl © |
Q7. Contributin is always equal to fixed cost
319119 Had ﬁQJR’ [SINES| Ef% XTI gldl AE~\r|
Q8. A ratio is a munerical relation of one number divided into the other
T G H G BT T B BT AITHS TR U BT ¢ |
Q9. Sales and cost of goods sold is one and the same.
ey wd 99 T AT B AN T & 91T 2 |

Q10. Ideal current Ratio is 2:1

aTTest AT U 21 & |
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